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Direction (1 - 5) :In the following
question, a sentence with four words
printed in bold is given. These words are
numbered as (1), (2), (3) and (4). One of
these four words may either be misspelt
or inappropriate in the context of the
sentence. Find out the word(s) that is
wrongly spelt or inappropriate and mark
the relevant option as your answer. If all
the words printed in bold are correct,
mark option (E), i.e. ‘All are correct’, as
the answer.

1.

When we reach home
after travelling (1) for weaks, (2) the
home is the same but something (3) in
our mind has changed and that
changes everything.(4)

A 4

B.1

C.2

D.3

E. All are correct

2.Many people believe (1) that it is
better to lead a slow life
with limited (2) pleasures (3) than
the mindless (4) rat race of the city.

=N WD

A.
B.
C.
D.
E. All are correct

3.With rice (A) in online consumer base,
many online retailers (B) are finding it
difficult to fulfil (C) all the consumer

demands in a short (D) time.
A.C

w >0

B.
C.
D.
E. All are correct

4.Given the pace (A) at which
technology is developing (B) today, it
is clever (C) that our world (D) will
work completely different in just a few

days.
A.D

B.C
C.A
D.B
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E. All are correct
5.Participating (A) in
various competitions (B) since

childhood, helps students develop (C)
a spirrit (D) of sportsmanship.

A. B

B. A
C.D
D.C
E. All are correct

Direction (6 — 8) : A sentence with one
blank is given, indicating that something
has been omitted. Choose the word that
best fits in the blank making the sentence
grammatically correct and meaningful.

6.

The infrastructure projects of the city are
falling behind schedule thus increasing
the of the residents.

A. Inconvenience

B. Safety

C. Working

D. Stressful
E. Health

7. There has been a significant rise in the
price of certain goods and commodities
recently, making them for the
common man.

A. Price

B. Progressing

C. Increasing

D. Supporting

E. Unaffordable

8.1t is vital that children, young people
and all of us have access to stories which
give us the knowledge, empathy and
understanding we need to

life.

A. Engage

B. Negotiate

C. Overlook

D. Developing

E. Organised

Direction: A sentence with one blank is
given, indicating that something has been
omitted. Choose the word that best fits in
the blank making the sentence
grammatically correct and meaningful.
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9. Tigers are large, solitary predators
who owe their entire existence to being
able to detection by prey
and sneak close before attacking.

A. Practice

B. Indulge

C. Avoid

D. Advance

E. Demand

Direction (10 - 11) : Read the sentence
to find out whether there is an error in it.
The error, if any, will be in one part of the
sentence. The number corresponding to
that part will be your answer. If the given
sentence is correct as it is, mark the
answer as ‘No error’. Ignore the errors of
punctuation, if any.

10.

Having supportive parents (1)/ help
massive in (2)/ the positive development
and (3)/growth of a child. (4)

Al

B.2
C.3
D. 4
E. No Error

11.The reports suggested that (1)/ some
animals is (2)/ likely to be extinct (3)/ in
the near future. (4)

Al
B. 2
C.3
D. 4
E. No Error

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.

12. As per the new design (1)/ all
appliances inside (2)/ the building will
(3)/ be power by solar energy. (4)

Al

B.2
C.3
D. 4
E. No Error

$

gradeup

Direction: Read the sentence to find out
whether there is an error in it. The error,
if any, will be in one part of the sentence.
The number corresponding to that part
will be your answer. If the given sentence
is correct as it is, mark the answer as ‘No
error’. Ignore the errors of punctuation, if
any.

13.

A person driven by (1)/ greed and
envious, loses (2)/ the ability to see (3)/
things as they are. (4)

Al

B. 2
C.3
D. 4
E. No error

Direction (14 - 20) : Read the given
passage carefully and answer the
questions that follow. Certain words are

printed in bold to help you locate them
while answering some of these.

Why do we travel? It's not the flying I
mind - I will always be awed by the
physics that gets a fat metal bird into the
upper troposphere. The rest of the
journey, however, can feel like a tedious
lesson in the ills of modernity, from the
pre-dawn X-ray screening to the sad
airport malls peddling crappy souvenirs.
It's globalisation in a nutshell, and it
sucks. And yet here we are, herded in
ever greater numbers on to planes that
stay the same size. Sometimes we travel
because we have to. Sometimes we travel
because we want to, because the
annoyances of the airport are outweighed
by the visceral thrill of being someplace
new. Because work is stressful and our
blood pressure is too high and we need a
vacation. Because home is boring.
Because the flights were on sale.

Travel, in other words, is a basic human
desire. We're a migratory species, even if
our migrations are powered by jet fuel
and Chicken McNuggets. But here's my
question: is this collective urge to travel
- to put some distance between ourselves
and everything we know - still a
worthwhile compulsion? Or is it like the
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taste for saturated fat: one of those
instincts we should have left behind in the
Pleistocene epoch? Because if travel is
just about fun, then I think the new
security measures at airports have killed
it. The good news, at least for those of
you reading this while stuck on a tarmac,
is that pleasure is not the only consolation
of travel. In fact, several new science
papers suggest that getting away - and it
doesn't even matter where you're going -
is an essential habit of effective
thinking. It's not about a holiday, or
relaxation: it's about the taxing act
itself, putting some miles between home
and wherever you happen to spend the
night.

The reason such travels are mentally
useful involves a quirk of cognition, in
which problems that feel "close" — and the
closeness can be physical, temporal or
even emotional - get contemplated in a
more concrete manner. As a result, when
we think about things that are nearby,
our thoughts are (A)

bound by a more Ilimited set of
associations. While this habit can be
helpful - it allows us to focus on the facts
at hand - it also inhibits our imagination.
When we escape from the place we spend
most of our time, the mind is suddenly
made aware of all those errant ideas we'd
suppressed. We start thinking
about obscure possibilities that never
would have occurred to us if we'd stayed
back on the farm. Furthermore, this more
relaxed sort of cognition comes with
practical advantages, especially when
we're trying to solve difficult problems.
Source: https://www.theguardian.com/t
ravel/2010/mar/14/why-travel-makes-
you-smarter

14.
Which of the following is true about
travelling?

A. We travel because we need a break
from stressful work.

B. The idea of travelling is enhanced by
the security arrangements at the airport.
C. It is on rare occasions that we derive
pleasure through travelling.

D. All of these
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E. Travelling enables a person to make
concrete decisions.

15.

Which of the following is true with respect
to the passage?

A. An escape from a regular environment
allows us to think about possibilities,
which we would otherwise never explore.
B. Apart from deriving pleasure, we can
also develop a habit of effective thinking
through travelling.

C. The author finds the idea of an
aeroplane flying in the troposphere
absurd.

A. Only A

B. Both A&B

C.Only C

D.BothA&C

E. Both B & C

16.With which of the following is the
author most likely to agree?

A. Travelling allows us to be aware of the
ideas suppressed within us.

B. Globalisation has benefitted us in many
ways.

C. Travelling bridges the distance
between ourselves and everything we
know.

A. Only B

B. Only A

C.Only C

D. BothA&B

E. Both B & C

17.Which of the following is the MOST
SIMILAR in meaning to the given word as
used in the passage?

Taxing

A. Strenuous

B. Burdensome

C. All of these

D. Stressful

E. Demanding

18.Which of the following is the MOST
SIMILAR in meaning to the given word as
used in the passage?

Obscure

A. Uncertain

B. Likely

C. Clear
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D. Difficult
E. Subversive

19.Which of the given statements can be
concluded from the following statement
given in the passage?

"It's not about a holiday, or relaxation:
it's about the taxing act itself, putting
some miles between home and wherever
you happen to spend the night"

A. A stressful work forces one to travel
away for some time.

B. A change from the existing
surroundings is a habit ingrained in very
nature of human species.

C. Human derives pleasure from
continuous travelling.

D. Humans like flying over the skies in
confined spaces.

E. None of the above

20.Which of the following words can be
used to fill the blank labelled (A) in the
passage?

A. Liberated

B. Accessible

C. Constricted

D. Reluctant

E. Conditional

Direction (21 - 25) : Rearrange the
following six sentences (A), (B), (C), (D)
and (E) in a proper sequence to form a
meaningful paragraph, then answer the
questions that follow.

(A) These two conclusions by the trust
are based on empirical data gathered
from surveys carried out in many parts of
the country.

(B) The National Literacy Trust has noted
that becoming a lifetime reader is based
on developing a deep love of reading.
(C) So, the big challenge for teachers is
not simply getting students to read - it's
getting them to enjoy it too.

(D) In other words, teachers do not need
to motivate students to read too much
but encourage reading for pleasure.

(E) It further notes that this is especially
true for young readers as motivation to
read decreases with age and if children do
not enjoy reading when they are young,
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then they are unlikely to do so when they
get older.

21.

Which of the following will be the fourth
statement after rearrangement?

A.B

moOw
O>0m

22.Which of the following will be the fifth
statement after rearrangement?
A.D

moOw
@m0

23.Which of the following will be the first
statement after rearrangement?
A.C

moOw
>mom

24.Which of the following will be the
second statement after rearrangement?
A.A

monOw
mgO®

25.Which of the following will be the third
statement after rearrangement?
A A

moOw
Omow

Direction (26 - 30) : In the following
passage, there are blanks each of which
has been numbered. These numbers
correspond to the question numbers.
Against each question, five words have
been suggested, one of which would fill
the blank appropriately. Mark the suitable
word as the answer.
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Amy's school needed to have a fundraiser
so they could (###Q1###) money to
buy more computers. Amy knew that
many of her classmates' families were
from (###Q2###) countries  around
the world. They had many special
traditions, spoke many different
languages and ate many different types
of foods. Amy had a (###Q3###) idea
for a fundraiser! She suggested that
every student could bring in their
favourite dish and hold an ethnic dinner
night. She knew parents and members of
the community would
be (###QA4###) to pay money in order
to try foods from all over the world! Amy
with the help of her friends organised the
event. The fundraiser was a
great (###Q5###). Everyone enjoyed
seeing, smelling and tasting foods from
so many different cultures.

26.

Find the appropriate word in each case.
A. Waste

B. Income

C. Earn

D. Occupy

E. Hand

27.Find the appropriate word in each
case.

A. Alike

B. Variety

C. Moderate

D. Polite

E. Different

28.Find the appropriate word in each
case.

A. Vague

B. Brilliant

C. Elaborate

D. Dumb

E. Exciting

29.Find the appropriate word in each
case.

A. Agree
B. Outwit
C. Concern
D. Glad
E. Promise
radeu
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30.Find the appropriate word in each
case.

A. Success

B. Celebrity

C. Disaster

D. Variation

E. Scenery

A& (31 - 40) : RAEATAf@aT g & U
fRIeg (?) & TUT W Al AT AT 37T ART?

31.
? 1
f41Zx5=11

2 2

A.5

B. 7

C.6

D. 10

E. O

3263 x3+7+3=7

mooOw»
OV WUl

W
w

moow®p
N R oo w”

. 10
.22
34.5 x ?% of 300 + 275 = 425
A. 20

B. 25

C.8

D. 30
E. 10

2 2 2

e
559 15 45
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o & le S

m
%]
=]

17 +4/2601
6. T+ 2 =17

D

3
A
B
C

.5
E

Coh~NH

37.182 + 10 x 7 - ? = 249
A. 135
B. 184
C. 142
D. 145
E. 137

(O8]

8.7 x3"+9 =63

7
1
2
3
4
7

moOm>

39.? % of 12% of 2100 = 126
A. 25
B. 30
C. 40
D. 50
E. 60

40.3x7+1+5)x5=7?
A. 106

B. 84

C. 74

D. 64

E. 66

41.8 @Y §1g A 3R B &1 3 1 I9T 70 a9
g1 4 a¥ ggel, A 3R B T Tk A1y Y HT G
IRCH Iy & S 3eqard 2:1 a1 CH
TAATT Y FAT §?

A. 23 ay

B. 27 a¥

C.32ay

Q gradeup

SUPER

$

gradeup
D. 37 a¥
E. 24 a¥
42 A3RBA FHHALT: 4800 TUA

3R 7200 T9F 7 foraer f&ar| B & A T Jefelr
# ar 3R A & fov foaer fean ofe s
¥ omeT 5750 39T § 3R AT FHA F
fEar 2000 ¥ g, AT B fhasl #Ag=r &
fov fAaer fFar?

A. 8 A

B. 9 @

C. 6 A

D. 10

E. 5 7

43.U% A9 2 G 24 fAee 7 i i ufdsme
feer 3 28.8 sl i g d FA §1 IR
URT & Yidepel afd & URT & 3Hefehel AT
3arT 2:3 81 dl R Ul A a@ #oafa
AT B

A. 12 f.#/eer

B. 15 fo.#/ger

C. 16 f&.#/ger

D. 10 . #/eer

E. 6 fo.#/eer

44X + 10’,'Y - 8’ & 20% 3fa= g1 Ife X,

Y @22 370 §, A Y FT AT AT |

A. 208
B. 188
C. 202
D. 148
E. 230

45.q4 3R Ul & derde gt SR &, AT
& 20% Tohrell ST & 3R fAs0r 7 arelr $r
A AET 3 & St g1 afe g AR O
H gRomE A & S F FERd
3AUTd 32:15 &1 gy AR grel & GRS AT
&1 3FgaTed AT

A.20:7
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B.40:7
C.10:7
D.5: 14
E. 7: 10

fR&er (46 - 50) : 9 RU sIwIR Iw
A Ocag I H 5 deRal A A, B, C,
D 3R E @RT 9 S aTet Shehl I TEAT &
T B

&0
o 50
2
£ 20
8
5
5 30
20
) I I
A B C D E
Bakeries

46. 90 C GaRT I SITeT aTel shebl T TEAT
I E SaRT 9 ST aTel hebl T F&AT I
I Haer gfaera §?

A. 40%

B. 35%

C. 45%

D. 55%
E. 30%

Number of cake sols

47 9% B gaRT 9 Sl dTel Shehl T H&AT
¥ dHA EGORT 9 AT el T HEAT H

48.9h{ A EaRT 9T T Hehl T Fol TE&AT H
¥, 1/6 BoseR % &, @ 95T A gaRT 9T
T IR-BABA Fepl T &A1 Fder 872

A. 32

B. 16

C. 30

D. 15
E. 25
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49.9% A 3R D gaRT 99 STl dTel dhedl
raa g&ar 4T 82

A. 44

B. 48

C. 36

D. 40
E. 42

50.9% C 3R E a1 T A1y 99 S« drel
hhl HT Pl &I A Feag [ A AT H
|odlg LA 20% a  H Jefer g & o
gedrg I # s C 3R E garr s S drel
Shenl T Hel TEAT FAT A?

A. 96

B. 108

C. 112

D. 99
E. 90

fAder (51 - 55) :Aeafaf@a weaT & ar
AT T X IR Y & RE aw §) 3m9er g
HHIRIUI T gol el @19 94T X 3R Y & I

e TR FHLAT grem|
51.

x2-7x + 12
2y? -3y + 1
A.X>Y
B.X<Y
C.X=2Y
D.X<Y

E. X=Y or No relation can be established

0
0

52.x2 = 42
y2-4y+4=0

53.x2-x-42=0
y2+y-30=0
A X>Y

moOw

=Y or No relation can be established

54.2x2-5x+3 =0
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y2-1=0

A.X>Y

B.X<Y

C.X2=2Y

D.X<Y

E. X=Y or No relation can be established

55.x2+ 13x +40 =0
y24+ 17y +72 =0
A.X>Y

r No relation can be established

fder (56 - 65) : & IS W F T Asq
EGIIC

56.
1, 3, 6, 24, 120, 720, 5040

moow>»
N O W

20
. 720
57.5, 6,13, 40, 161, 803, 4837
A. 161
B. 4837
C. 13

D.5
E. 803

58.420, 429, 426, 437, 432, 443, 438
A. 438
B. 443
C. 420
D. 429
E. 426

59.50, 46, 55, 39, 63, 28, 77
A. 50
B. 46
C. 39
D. 63
E. 28

60.10, 12,9, 14, 6, 16, 1
A. 10
B.9

mon
e
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61.37¢ UH A@S5ES H29 fRelt arT &
gicdebel AT WAl & AR URT Y
afa 2.2 fra/eer g, dr YRT F
3felshel 81.6 fohall 1 gl 07 Xt A 19 ear
form et arelr AT fahder grem?

A.8Hc

B.9 &¢

C.649c

D.5g¢

E.79c

62.Th g FT &A% 784 Ta Hiex gl IfY
Ueh gl T SATH H a7 T a1 & aNIe g, ot
3 g 1 IRATT FAT gEI?

A. 110 #Hrex

B. 130 X
C. 105 #Hrex
D. 88 #lex
E. 120 #Hiex

63.T @R o 56 T94 ufd fhellamer &t
X T TH X haamd g @l 3R 91T
gfa foreliamer $r ex & T 32 fhalland I
TALT| Ife 38T 3@ HHOT # 105 39T gfa
fhellamd I X & dgH 25% H AT

A& (64 - 65) : FATAPRT FI €A F 9¢ 3T
AT & S FERR F IR W) AeAfaf@d
el & 3T S

AR B U # &1 18 &l 7 qU # dhd
¢ oafd B AR C 38 & 1 14 gt & qu
W Fhd gl IR CH c@arBH  Jeel
H 40% 31f8 g
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64. A 3ehel Tohclel Teil 38 R &1 QU
Tohdl 87
A. 40 fea
B. 30 o=t
C. 48 e
D. 36 f&a
E. 50 et

65.A 3R C fohaed &elt & I8 & @
T &7
3

A. 1213Re
2

B. 1613fRe
9

C. 145%74
7

D. 1813
5

E. 1513

fa&er (66 - 70) : AEIfAf@d FEHERY F1
EAYdeh I A IR A few v get
& I ¢l

&l AR dfFaat & aRg afed 388 § vds
ufFq # og =g 98 §1 dlFa 1 # B, C, D,
E, F 3R G 33 & 3ik @sft 1 7@ 3 & 3
g dur 9ea2#dQ, R, S, T, U3lRVIS §
AR w1 @ gfE@or # R A
aeTE A ¥ BF oS A A an & T
IaEYT H, UfFd A 9O 9IS HeHT F 79
qEll dfda & 45 Tl 377 Hewg &1 3R §

Dufdd & 3ifdw ORI & & Te& W s&dr
g1 B 3T D & & ar =afga ¥ &1 fog safea
& AE B & AR § TE Q H IS I ¥ qW
YA W doar &1 Q 3R S F fg e =gfea
&S &I o =afed &1 7@ S &1 3R § 98 G &
8 TS IR SaaT g1 G Fir 98 IR Idd H
IFd ¥ § VA T IR IS
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gITIRVE &g ar =afFa o8 g1 R, UHr
grg 3R R Tue ) Soar g1 o aafeFa
& 7G U H 3R § 96 E & a5 3R & I
TAT W d&aT g1 F, C Fir e 3R vy T
9§ B

66. FiA F Fr a8 3R & AT TUT W doar

?

>

mooo»
OmwoOo

67.S IR R & & fohctel safedd S &2
A. TH

B.ar

C. die

D. IR

E. 15 a7l

68.7haehr H@ C #T 3 g?
A. R

moOw
D<o

69.F% T & ¥ +iaT AT FUT TE 872

A. B3R D &F dg &7 cafeg 38 &
B.V, G& faulld doar &

C. TR EUfFa & 3ifan7 oRT @ 38 &
D. R 3R U Aecan gy &

E. 30ad & ¥ F1$ 787
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71.21s¢ ‘DECLARING’ & 318RT & & fhaer
oA B, [ @ 93 & g & T 3 &
3R ¢ Toiaer 3N avtarer & @ & (3mY
IR IS gt 3R)?

A. TH

B.ar

C.d=

D. g =gl

E. T & 318

A& (72 - 74) : 7 U 70 S geT H
N FUAT F a1 o sy T ot § 3mIer
few a7t wyst B qoT ARG §, H & A
AHATT: Ad azal d e gdia g gil
gt forsenst &1 9¢ 3R i ot o & u
T TSt & & Sl a1 TSy e d: g
?—rw”r@raa?ammgtf%tfm$aﬁram
dlfeheh ®T & 3TEROT Tl Bl

72. HYe:

s o=y, T

dhad FS oI, A (Ways) &l

s a4, ufoaey &

s

I. S wloded, osd 78t &

II. 3o osd, tfaded ¢

A. I Faer TSy I TeRor el §

B. I el fasewy I 3eTeROT &l &

C. afe a1 ot forseny I AT 1T 3HefeRoT &Yl &
D. afg & a s I 7 & 11 3e]aRor el &
E. afe art fsehd 1 31X 1T 3eeRor &3 &

73.%hY:

$C FYX, TFISH &

I FO AFI-BCH, e gl

sy

I. @l Jera & TBUSey 8l I TAHTGAT
gl

II. 3 ey & AT gl i FHET gl
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A. afE Faer fsehy [ 31TER0T T §

B. Ifg daer sy II 3regavor &t &

C. Ife a1 ar sy 131 I 3e]aT0T Xl &

D. afg & o forse I 7 & II 31e]eRor el §
E. afg gt forsend 1 3R 11 31eferor & §

74 .FYe:

$C g, 999

ol aud, FAafaer g

s

1. 3o zod faRead &7 @ Harfor «Et &
II. $& Harfore, o g

A. & Faer fsHy I HgaRoT T §

B. I Shaer sy I 3T&ROT Tl &

C. afy a1 & frses I 7 11 HeER0T &taT &
D. afg & a sy I 1 & 11 HeaRoT teTr §
E. afe axat fsey I 3R 11 3ieferor & §

fAder (75 - 79) . PER@T FEERT F7
EIAqdeh AT HY TUT A QU T gt
F 3o} o

figB, NgA® 10#dfler oaRaw & &
figC, MgB& 15  cfaor & Bl

gD, MgAF 153 s &  #
NgE MgD& 158 q@ & gl
g C, Mg F& 15  uRaw & &
g G MgCH10der @ & R
ffgH, MgF& 157 3R & 7l

foig R, féig E & 3 #iex qd # gl

75. g F & dest & fg H & g 3k feem
FT 82

A. 15 #rex gfgror # &

B. 10 T 3cRX H &

C.15H T 3cR # ¢

D. 10 #HreX gf&or # §

E. H & &Ig el

76.R & T A G Fr fEem «ar g2
A. 3ecR-qd
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B. 3cR

C. gfaor

D. gfaor-qd

E. gfgror-ufeas

77 1 & @ a9 g @ O9fFa &

gfafafeca a1gr #ar g7
A. CGF
B. GAD
C. BAH
D. FHE
E. DER

78.A%H &1 gdr o@NT|

A. RF
B. DC
C. DR
D. RB
E. EA

79.fFF A @ FlT AT FUYA T 87
A. Tdg D, foig A & afgior & §
B.gH fgB& qa # ¢
C.WgHING U & uidd & 31d &
D.fSgF, g G & aRasA # §

E. 0 & 15 a7el

80.FFT g & ¥ IR et ARRad yeR &
Ueh A §, QYA &7 gar 9|

A. SNM

B. HCB

C. RML

D. WTS
E. PKJ

fader (81 - 82) : YA WA H, T© dcdl &
T TaYt & HYAT 7 AT I §| 5 HYUAT
& g or sy I 3R 11 R arw &) wyat &y
¢ 3R 39a 3ccR ¢

81. Y.
S>2T=A<N<D
IGAC2 R

I.D>T

II. S <N
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A. Fad fAshy [ T §

B. shad fasey II T8 &

C.ar ar fashy I a7 sy I T8Y §
D.d ar fashy I 7 & ey II |er &
E. alat sy I 3R 11 @& &

82.3Yq:
B<R<K=A;T<R
IGACAR

I.T<K

II.A>B

A. Fad fAsHy I TEr §

B. shad fasey II T8 §

C.ar ar fassy I a7 fashy I Er §
D.d ar faswy I 77 & ey 11 |gr &
E. gt sy I 3R 11 @& &

fa&er (83 - 87) : A & IS AP FT
EATAYGH HETTT Y dUT 38d HTUR T F2aA
F IcR &

s =gfed IAA, B, C, D, P, Q,
R 3R S &7 S 316 3Te9T-37c19T Fglar AT
3R REFR #E A g3 o A 3MaRIH
T ¢ fop = A A & A F SeH IR &
aic foher A A g A ANRBF T
WW@WWW@WWB?\TC&:
T A @1 Al w O SeA  gam
a7l A 3R C & &g Sed oot arer egfaaar &r
FEar C 3R D & &g FoF o g afFaar
T T&IT & AT g1 P & S D & ugor fraly
A A I AW PARQE ST Haer o
wf?clﬁwamgwmmaﬂamsﬁm
aﬁ»?rQ%aragsﬂun

83.Ca:ramﬁmﬁﬁﬁmmﬁﬁﬁ§m
or?

A. S

B. 3%
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C. GaFsx

85.R¥ U SeH o dared Ileadar &r
HEAT & §G SIeH ol drel ogiadar v

86.fAFT 7 & Hia AT FHUT TEr 82

A. B & SeH Vel FEA H g3 AT

B. S 3R Q & &g dhad T ATFAAT FT SToaT
g3

C. B & Se A S-1ad Fl H g3 AT
D.meDﬁmqﬁ'@T?ﬂ

E. 3RFd § & I oIgl

87.afcP, DU TI®T § B, Q& Tefd

g, 30 gy C, AT & @ fruy gafda g2
A. A

moOw
TnwWo

fder (88 - 90) : AN & I AR FT
EITAqdeh ETAe Y TAUT 3Heh HTUR T FRaAt
% 3K ¢

3TCRT-376lT dolel & 9rd &ied 37U A, B, C,
D 3R E 3R ¥ A d& T dfdd # cgafeyd
fpT v §| 9fFF A &1 dofeT diFd B & ol
O e § Afehet afew A, dferg C &Y ot &
ol g1 d1FE D, diF C &Y ol # godl &
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fheT I §oobl oT8T ¢l iy C O« diaar &
TId Y A8 & ST AT Y SiedEr @

T&T, Sied C O godb ikl HI TEAT & THTA

¢l CHY HaH o dled & aotet 15 fham gl

88. faieed H & a7 AT i AT HIH goal
I §?

moom»
O»wmOm

89.3f¢ SF@ CHF agoeT 18 Famr & ar
STFd D T dofel T g FhdT 8§72

A. 16 f.am

B. 10 fh.am

C. 20 f&.am

D. 12 fR.am

E. 22 fam

)
3P

0.fFaar aig, 9@ E & g 87

oTel

monowm>»

H%MNA

fa&er (91 - 95) : REfA@T IHFR F
CIAYGH IETTA FY YT dSAdR TRAl &
3R o

BE fed HAGA, B, C, D, EIRFw=®
IeddR A A ARI IR AR A IR AW
FE IS g1 C, F &y a8 30 ¥ @l ¥ W
AT SoT §1 E, AFr g8 3R & R T W
d&ar g1 B, F&r g8 3 ¥ IR TUET W)
dodr g1 C 3N A wSie 78T ¢ B 3R A g
gl

91. ®IT CFI g% 3N T X TUF W T

g?
A. A
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e (96 - 100) : WFEAfARAT SRR H
a3 B YT oA QU aIw gt
& 3l ¢l

Teh ARET FHe #Tr A,

‘training is always necessary’ &I ‘god asb
byo mnp’ & &1 & for@r = g,

‘teacher perception always right’ @ 'mnp
den coh hen' & & & for@r I §,
'teacher can stop training’ @I ‘byo coh vyo

rho’ & &7 H for@r im §
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‘stop bad perception necessary’ & ‘den
puk asb vyo’ & &1 # for@r = gl

96. s ‘right’ & AT fhd He @1 3uAET
T I §7?

A. mnp

B. hen

C. den
D. coh

E. 5TH & g oAeT

97.'Puk’ e & 39T foeet & & fhaeh faw
e araT 872

A. stop

B. perception

C. bad

D. necessary

E. 5TH & g QT

98.'hen god puk’ &7 &1 371 §?
A. is right training

B. bad is right

C. training is bad

D. training right bad

E. 31 & #Is o7

99.'teacher is always linguist’ & f&oa &7
& for@r smuam|

A. god coh pa mnp

B. byo asb mnp coh

C. mnp god coh vyo
D. god vyo den asb

E. 31 & ®Ig o7t

100.f%F ersg @ ‘byo’ GaRT 2T 13T &7
A. necessary

B. stop

C. Training

D. perception

E. 31 & #I$ 7
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## #ANSWERS# # #

1. Ans. C.

We need to replace ‘weaks’ with ‘weeks’.
Note that

Weak means lacking the power to
perform physically demanding tasks;
having little physical strength or energy.
While Week refers to the a period of
seven days.

Given the context, travelling for 'weeks'
is correct. So, the correct answer is
option C.

2. Ans. E.

All the words are correct. So, the correct
answer is option E.

3. Ans. C.

We need to replace ‘rice’ with ‘rise’ to
make it contextually correct. So, the
correct answer is option C.

4. Ans. B.

We need to replace ‘clever’ with ‘clear’.
So, the correct answer is option B.

5. Ans. C.

We need to replace ‘spirrit’
(misspelled word) in the D part of the
sentence with ‘spirit’. So, the correct
answer is option C.

6. Ans. A.

As the statement talks about the schedule
delays in infrastructure projects and its
impact on the residents, option A -
inconvenience fits appropriately. The
other options such as "health" and
"safety" do not fit the context and
"stressful" is an adjective, but the
sentence seeks for an appropriate noun
which is option A. So, the correct answer
is option A.

7. Ans. E.

So, the correct answer is option E.

8. Ans. B.

The words have the following meanings:
Engage- occupy or attract (someone's
interest or attention)

Negotiate- find a way over or through
Overlook- fail to notice

Developing- growing and becoming more
mature, advanced, or elaborate
Organised- arrange systematically

As the statement states that young
people must have access to stories which

Q gradeup
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will help us to be kind and empathetic,
which will help us to find a way through
life.

So, the correct answer is option B.

9. Ans. C.

The statement mentions that tigers
"sneak close before attacking". This
means they are able to remain unseen.
Thus, the correct choice for the blank is
'avoid'.

So, the correct answer is option C.

10. Ans. B.

The error lies in the second part of the
sentence. The use of "help massive" is
turning the sentence structure
grammatically incorrect. We need to
replace ‘help massive’ with ‘massively
helps’ using the adverb 'massively' to
modify the verb 'help' to convey the
correct meaning of the sentence. So, the
correct answer is option B.

11. Ans. B.

We need to replace ‘is’ with ‘are’. So, the
correct answer is option B.

12. Ans. D.

The error is in the fourth part of the
sentence.

We need to replace 'power' with
'powered'.

So, the correct answer is option D.

13. Ans. B.

The error is in the second part of the
sentence.

We need to replace 'envious' with 'envy'.
So, the correct answer is option B.

14. Ans. A.

Refer to the following lines from the
passage:

A. 1st paragraph: "Sometimes we
travel...because work is stressful ...".
Thus, in order to take a break from
stressful work, one opts to travel.

B. 2nd paragraph: "...if travel is just
about fun, then I think the new security
measures at airports have killed it." This
implies that the author loathes security
arrangements at the airports and
considers it as something that Kkills the
fun.

C. This is neither mentioned explicitly or
implied in the passage.

Success Course



http://www.gradeup.com/

www.gradeup.co

E."... several new science papers suggest
that getting away - and it doesn't even
matter where you're going - is an
essential habit of effective thinking."
The passage does not mention that
travelling enhances a person's ability to
make concrete decisions. Thus, E s
incorrect.

Option A is the correct answer.

15. Ans. B.

Refer to the following sentences from the
passage:

A. "When we escape from the place we
spend most of our time, the mind is
suddenly made aware of all those errant
ideas we'd suppressed. We start thinking
about obscure possibilities that never
would have occurred to us if we'd stayed
back on the farm." Here, the farm implies
a regular (and monotonous) environment
we live in. Hence, A is correct.

B. "The good news... is that pleasure is
not the only consolation of travel. In fact,
several new science papers suggest that
getting away... is an essential habit
of effective thinking. Thus, B is correct.
C. "It's not the flying I mind - I will
always be awed by the physics that gets
a fat metal bird into the upper
troposphere." "Awed" (Adj.) means to be
filled with wonder. Also, in the given
sentence, "fat metal bird" refers to an
aeroplane. So, the idea of an aeroplane
(that is made up of metals) flying in the
troposphere, fills the author with wonder.
So, clearly, he/ she does not find the idea
absurd. Hence, C is incorrect.

So, option B is the correct answer.

16. Ans. B.

Refer to the following lines from the
passage,

A. "When we escape from the place we
spend most of our time, the mind is
suddenly made aware of all those
errant ideas we'd suppressed.”
Hence, A is correct.

B. "...the sad airport malls peddling
crappy souvenirs. It's globalisation in a
nutshell, and it sucks." Hence, the author
does not find globalisation impressive.

C. This is not mentioned in the passage.

Thus, only option A is crrect.
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17. Ans. C.

"Taxing" means physically or mentally
demanding/ challenging. All the words
given in the options are synonyms of
"taxing".

18. Ans. A.

"Obscure" means not discovered or
known about; uncertain. Thus, option A is
the correct answer.

Subversive- seeking or intended to
subvert an established system or
institution.

19. Ans. B.

It has been mentioned in the passage
that "Travel, in other words, is a basic
human desire. We're a migratory
species". It can be deduced from these
lines that option B is the correct choice.
20. Ans. C.

The passage mentions "As a result, when
we think about things that are nearby,
our thoughts are bound by a more
limited set of associations." In this
regard, the correct word for the blank is
'constricted' which means 'inhibited;
restricted'.

So, the correct answer is option C.

21. Ans. E.

The correct logical order is BEACD.

The passage revolves around the topic of
the importance of developing a love of
reading. In this regard, the most
appropriate introductory statement is B
which states that becoming a lifetime
reader is based on developing a deep love
of reading. It will be followed by E which
adds to the points noticed by the National
Literacy Trust by using the phrase “it
further notes”. Statement A mentions
‘these two conclusions’ referring to the
two points made in B and E. Thus A will
follow E. CD is a mandatory pair with C
mentioning the challenge, the teachers
have to overcome and D reiterating the
same thing.

So, the correct answer is option E.

22. Ans. A.

The correct logical order is BEACD.

The passage revolves around the topic of
the importance of developing a love of
reading. In this regard, the most
appropriate introductory statement is B
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which states that becoming a lifetime
reader is based on developing a deep love
of reading. It will be followed by E which
adds to the points noticed by the National
Literacy Trust by using the phrase “it
further notes”. Statement A mentions
‘these two conclusions’ referring to the
two points made in B and E. Thus A will
follow E. CD is a mandatory pair with C
mentioning the challenge, the teachers
have to overcome and D reiterating the
same thing.

So, the correct answer is option A.

23. Ans. D.

The correct logical order is BEACD.

The passage revolves around the topic of
the importance of developing a love of
reading. In this regard, the most
appropriate introductory statement is B
which states that becoming a lifetime
reader is based on developing a deep love
of reading. It will be followed by E which
adds to the points noticed by the National
Literacy Trust by using the phrase “it
further notes”. Statement A mentions
‘these two conclusions’ referring to the
two points made in B and E. Thus A will
follow E. CD is a mandatory pair with C
mentioning the challenge, the teachers
have to overcome and D reiterating the
same thing.

So, the correct answer is option D.

24. Ans. E.

The correct logical order is BEACD.

The passage revolves around the topic of
the importance of developing a love of
reading. In this regard, the most
appropriate introductory statement is B
which states that becoming a lifetime
reader is based on developing a deep love
of reading. It will be followed by E which
adds to the points noticed by the National
Literacy Trust by using the phrase “it
further notes”. Statement A mentions
‘these two conclusions’ referring to the
two points made in B and E. Thus A will
follow E. CD is a mandatory pair with C
mentioning the challenge, the teachers
have to overcome and D reiterating the
same thing.

Q gradeup

SUPER

$

gradeup

So, the correct answer is option E.

25. Ans. A.

The correct logical order is BEACD.

The passage revolves around the topic of
the importance of developing a love of
reading. In this regard, the most
appropriate introductory statement is B
which states that becoming a lifetime
reader is based on developing a deep love
of reading. It will be followed by E which
adds to the points noticed by the National
Literacy Trust by using the phrase “it
further notes”. Statement A mentions
‘these two conclusions’ referring to the
two points made in B and E. Thus A will
follow E. CD is a mandatory pair with C
mentioning the challenge, the teachers
have to overcome and D reiterating the
same thing.

So, the correct answer is option A.

26. Ans. C.

It is stated that Amy's school needed a
fundraiser in order to collect money to
buy more computers. In this context, the
correct option is 'Earn’.

So, the correct answer is option C.

27. Ans. E.

In the passage, it is mentioned 'They had
many special traditions, spoke many
different languages and ate many
different types of foods'. In this context,
the author emphasizes on the fact that
Amy's friends were from various
countries. The correct word for the same
is 'different'.

So, the correct answer is option E.

28. Ans. B.

In the last lines of the passage, it is
mentioned that "Everyone enjoyed
seeing, smelling and tasting foods from
so many different cultures".This implies
that the idea suggested by Amy was
masterly. In this context, the correct
answer is 'brilliant'.

So, the correct answer is option B.

29. Ans. D.

It is mentioned in the passage that "Amy
with the help of her friends organised the
event". This means that they knew that
people will willingly support their cause.
In this regard, the correct word will be
'glad'.
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So, the correct answer is option D.

30. Ans. A.

The general tone of the passage suggests
that the people enjoyed themselves at
the fundraiser and it can be assumed that
they donated as well. So, the event
overall was successful. So, the correct
option is 'success'.

So, the correct answer is option A.

31. Ans. B.

? 3
= —+—x5=11
2 2

? 1
=—-=11-—=
2 2

P | =

= ?=7
32. Ans. D.

63 x3+7+3="7
_63;3_
73
33. Ans. C.
11 1 3
= —x9—+
13 10 10
11 91 2
= x—+—=7
12 10 10
77 3
= —+—="
10 10
80 _,
10
=7=8
34. Ans. E.

=7 g

2
= 5x ——x 300+ 275 =425
100

= 15x? =150
= ?=10
35. Ans. E.
2 2 2
—w—t— =7
9 15 45
4 2 _ 10
_ 135 + 45 135
2
-
36. Ans. B.
vgradeup
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17 + 51 _
T2
68 = 17(? + 2)
?7 =4 -2 =2
37. Ans. D.

182+ 10 x 7 - ? = 249
324 + 70 - ? = 249

? =394 - 249

? =145

38. Ans. D.
7x3+9=63
7 x 3° = 567

3? =567/7

3?7 =81

?=4

39. Ans. D.

? /100 x 12/100 x 2100 = 126

? =126 x 100/12 x 21

? =50

40. Ans. A.

3x7+1+5)x5=7?
?=(21+1/5) x5

? =106

41. Ans. B.

Let present ages of A, B and C be A years,
B years and C years respectively, then
(A+8)+(B+8)=70

>A+B=54

. C-4=(A-4+B-4)/2
2C-8=A+B-8

C=(A+B)/2

C = 27 years

42. Ans. D.

Let A invested for x months

and B invested for (x + 2) months

Total annual profit = Rs. 5750

Profit for A = Rs. 2000

Profit for B = Rs (5750 - 2000) = Rs. 3750
Now,

4800x / 7200 (x + 2) = 2000/ 3750
4800x / 7200 (x + 2) =8/ 15

on solving, x = 8

Hence B invested for 8 + 2 = 10 months

43. Ans. B.

Let the speed of boat in still water and the
speed of the river be B km/hr and R
km/hr respectively, then
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28.8
B= =12
2.4

o (0)
(2 hours 24 minutes = 2.4 hours)
According to question
(R-B):(R+B)=2:3
=12:(R+B)=2:3
= (R + B) =18 ... (ii)
On solving equations (i) and (ii), we get
R =15
Hence, the speed of boat in still water =
15 km/hr.

44. Ans. A.
Given, X =Y + 22 and
X+ 10=1.2(Y - 8)
>Y+22+10=1.2Y-9.6
= 0.2Y = 41.6
=>Y = 208.
45. Ans. B.
Let the quantity of milk and water in
initial solution be 5m and 5w, then
According to question
4m 32

4w+(m+w) IRE

= 15m = 8(5w + m)
= 7m = 40w

>m:w=40:7

Hence, the required ratio = 5m : 5w = m
tw=40:7.

46. Ans. A.

Bakery
A B|C|D|E
No. of cakesold | 36 | 20 | 26 | 48 | 64

Hence, the required percent
26
—x100=40% .
_ 64
47. Ans. D.
Bakery

A B|C|D]|E
No. of cakesold | 36 | 20 | 26 | 48 | 64

Required ratio = 20 : 64 = 5 : 16.
48. Ans. C.
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Bakery
A B C D E
No. of cakesold | 36 | 20 | 26 | 48 | 64

Required number of non-designer cakes

36
36 - ? =30.
sold by bakery A =
49. Ans. E.
Bakery

A B C D E
No. of cakesold | 36 | 20| 26 | 48 | 64

Hence, the required average
36 +48
—=42.
: 2
50. Ans. B.
Bakery

A B| C|D|E
No. of cakesold | 36 | 20 | 26 | 48 | 64

Hence, the total number of cakes sold by
bakeries C and E together in week II

20 5
(25+54) 1+ =90 x —=108.
100 5
51. Ans. A.
52. Ans. A.
X2 = 42

=>X = +4, -4

y2-4y +4=0
y2-2y-2y+4=0
=>(y-2)22=0
=>y=2

From the above, it is clear
No relation can be established
53. Ans. E.
X2-x-42=0
x2-7x+6x-42=0
X(x-7)+ 6(x-7) =0
(x-7)(x+6)=0
X=7,-6
y2+y-30=0
y2+6y-5y-30=0
y(y +6)-5(y +6)=0
(y+6)(y-5 =0
y=25,-6

54. Ans. C.
2x2-5x+3=0
=>2x2-2x-3x+3=0
=>2x(x-1)-3(x-1)=0
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=>x=1,3/2

y2-1=0

=>y2=1

=>vy=+41, -1

Hence, X =2 Y

55. Ans. C.

(). x2+ 13x+40=0
x2+8x+5x+40=0
X(x +8)+5(x+8)=0
(x+5)(x+8)=0
x=-5,-8

(ii). y?+ 17y + 72 =0
y2+9y +8y+72=0
yiy +9)+8(y+9)=0
(y+8)y+9)=0
XxX=-9,-8

56. Ans. B.

The pattern of the series is:

1x2=2

3=6
6 x4 =24
24 x 5 =120
120 x 6 = 720
720 x 7 = 5040
57. Ans. E.
The pattern of the series
5x1+1=6
6x2+1=13
13 x3
40 x 4
161 x 5+ 1
806 x 6 +1
58. Ans. D.
The pattern of the series is

+1=
+1=

420 431 426 437 432 443 438

I | A | I | A —

+#11 -5 +11 -5 +11 -5

59. Ans. D.
The pattern of the series is:
50 - 22 = 46

46 + 32=55
55 -42 =39
39 + 52= 64
64 - 62 = 28
28 + 72=77

The wrong number is 63.
60. Ans. E.

10 12 9 14 6 18
I | N | A | A —

1
J

+2 -3 45 -8B +12 -17
I | A | I |
+1 +2 +3 +4 45
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61. Ans. A.
Let the speed of boat be 's'
Speed of stream = 2.2 km/h

5
s —22 7
20 = hs — 11
10 = 5s
=> s = 8km/hr
speed in downstream = 8 + 2.2 = 10.2 ki /hr
time taken to cover 81.6 km downstream = ’;(]JQ = 8 hours
62. Ans. D.

Area of square = 784 sq. m

side of square = 28 m

ATQ-

diametre of circle = side of square
radius of circle = 28/2 =14 m
circumference of circle = 2Mr =
22/7 x 14 = 88 m.

63. Ans. D.

2 X

100
CP=105%x — =84 Rs/Kg
125

By Alligation,

~
7\

91-84 84 -56
=7 28
=1 : 4

Given 4 units =32 kg

.32
~x=1unit= — =8kg
4

64. Ans. A.
A & B complete work in 18(2/3) days

B & C complete work in 14(7/12) days
Now let total work 1400 units

the efficiency of A & B= 1400/[18(2/3)]=
75 unit

the efficiency of B & C=
1400/[14(7/12)]= 96 unit

ratio of efficiency of B & C= 100 : 140 =
5:7

so efficiency of B= 40 unit

efficiency of C= 56 unit

efficiency of A= 35 unit
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time is taken by A to complete the work
alone = 1400/35 = 40 days

65. Ans. E.

A & B complete work in 18(2/3) days

B & C complete work in 14(7/12) days
Now let total work 1400 units

the efficiency of A & B= 1400/[18(2/3)]=
75 unit

the efficiency of B & C=
1400/[14(7/12)]= 96 unit

Given the efficiency of C is 40% more
than that of B

Ratio of efficiency of B & C= 100 : 140 =
5:7

So the efficiency of B= 40 unit

the efficiency of C= 56 unit

the efficiency of A= 35 unit

The time required by A & C together=
1400/[35+56]= 15(5/13) days

66. Ans. D.
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m
O
o+
o —+
. —
o+

69. Ans. C.

68. Ans. A.
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70. Ans. E.
Q R V U s T
] ] | l | l
1 1 1 | | |
] | | l | l
J J 1 | | |
E C B G F D
71. Ans. E.
L 1

)
m
0
~
>
Py
pd
—0)

72. Ans. C.

73. Ans. E.

@ Type-Writers ' Laptops
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All laptops being type-writers is a
possibility i.e, Only a few type-writers are
laptops means some type-writers are
laptops and some not, but all laptops can
be type-writers.

All computers being laptop is a possibility
i.e, if all computers being laptop it doesn't
affect the given statements, so it is
possible.

74. Ans. B.

Magazines

75. Ans. C.
D 15m £ 3m
15m
B 10m H
A
15m 15m

c 10m G 5sm F

76. Ans. E.
D
15m
10
3 m
A
15m
C 10m G 5m
@ 99devp

o

gradeup
77. Ans. D.
D 15m L
15m
B 10m H
A
15m 15m
c 10m G sm F
78. Ans. C.
D 15m £ 3m
15m
B 10m H
A
15m 15m
c 10m G sm F
79. Ans. B.
D 15m §3m o
15m
B 10m H
A
1sm 15m

c 10m G sm F

80. Ans. D.
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+5 +1
[T 1
SNM

+5 +1
LCh

+5 +1
[ 1
R M L

+3 +1
[ 1
W T S

+5 +1
[ 1
P K J

81. Ans. A.
Conclusions:

I.D >T — True
II. S < N — False
82. Ans. E.
Conclusions:

I.T < K— True

II. A> B — True
83. Ans. A.
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Months People
January P
March B
April D
May Q
June C
August R
October A
December | S
84. Ans. C.
Months People
January P
March B
April D
May Q
June C
August R
October A
December | S
85. Ans. B.
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Months People
January P
March B
April D
May Q
June C
August R
October A
December | S
86. Ans. B.
Months People
January P
March B
April D
May Q
June C
August R
October A
December | S
87. Ans. A.

N4
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Months

People

January

March

April

May

June

August

Cctober

December

88. Ans. E.

Box | Weight

A | 15kg

89. Ans. A.

Box | Weight

C | 18kg

A | 15kg

90. Ans. A.
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Box | Weight

A | 15kg

91. Ans. D.

1) B sits third to the right of F.

F

2) B and A are neighbors.
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Casel

Case 2

3) E sits third to the right of A.

4) C and A are not neighbors.
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Casel B
B
A C
D E
F
F
2) B and A are neighbors.
Case 2
Casel
B
B
C A
A
E D
F
F
5) Cis not sitting second to the left of F. Case 2
(Here, case 1 will be eliminated) B
B A
C A
E D F
3) E sits third to the right of A.
F
4) C and A are not neighbors.
Therefore, option D is the correct answer.
92. Ans. B.
1) B sits third to the right of F.
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Casel B
B
A C
D E
F
F .
2) B and A are neighbors.
Case 2
Casel
B
B
C A
A
E D
F
F
5) Cis not sitting second to the left of F. Case 2
(Here, case 1 will be eliminated) B
B A
C A
E D F
3) E sits third to the right of A.
F

4) C and A are not neighbors.

Therefore, option B is the correct answer.

93. Ans. D.
1) B sits third to the right of F.

Q gradeup
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Casel B
B
A C
D E
F
F .
2) B and A are neighbors.
Case 2
Casel
B
B
C A
A
E D
F
F
5) Cis not sitting second to the left of F. Case 2
(Here, case 1 will be eliminated) B
B A
C A
E D F
3) E sits third to the right of A.
F

4) C and A are not neighbors.

Therefore, option D is the correct answer.

94. Ans. B.
1) B sits third to the right of F.

Q gradeup
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Casel B
B
A C
D E
F
F .
2) B and A are neighbors.
Case 2
Casel
B
B
C A
A
E D
F
F
5) Cis not sitting second to the left of F. Case 2
(Here, case 1 will be eliminated) B
B A
C A
E D F
3) E sits third to the right of A.
F

4) C and A are not neighbors.

Therefore, option B is the correct answer.

95. Ans. C.
1) B sits third to the right of F.
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Case 1l
B
A C
D E
F
Case 2
B
C A
E D
F

5) C is not sitting second to the left of F.

(Here, case 1 will be eliminated)

Therefore, option C is the correct answer.

96. Ans. B.

Codes of the question are as follow:
asb: necessary

byo: training

Q gradeup

SUPER
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mnp: always

den: perception

coh: teacher

vyo: stop

god: is

hen: right

rho: can

puk: bad

Hence the code for 'right' is hen.
97. Ans. C.

Codes of the question are as follow:
asb: necessary

byo: training

mnp: always

den: perception

coh: teacher

Vyo: stop

god: is

hen: right

rho: can

puk: bad

Hence 'puk’ is the code for bad.
98. Ans. B.

Codes of the question are as follow:
asb: necessary

byo: training

mnp: always

den: perception

coh: teacher

vyo: stop

god: is

hen: right

rho: can

puk: bad

‘hen god puk’ is the code for 'right is bad'

99. Ans. A.

Codes of the question are as follow:

asb: necessary

byo: training

mnp: always

den: perception

coh: teacher

vyo: stop

god: is

hen: right

rho: can

puk: bad

Since the code for linguist is still
unknown, code for ‘teacher is always
linguist’ is 'god coh pa mnp'.

100. Ans. C.

Codes of the question are as follow:
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asb: necessary
byo: training
mnp: always
den: perception
coh: teacher
vyo: stop

god: is

hen: right

rho: can

puk: bad
Hence 'byo' is the code for 'training'.
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